Multiplicar Tres Polinomios (C)

Ot

- 3a*(—8a® —

Simplifique cada expresion.

0P (40 — 80?)(—3vt + 30?)

- —2y°(59° + 2y (8y* + 3y%)

3. 4k*(—5k* — 3k3)(—4k + 2)

- —7¢*(—6q — 2)(—q¢* + 8¢%)

4a)(7a® + a)

MatesLibres.com




Multiplicar Tres Polinomios (C) Respuestas

t

Simplifique cada expresion.

*(4v® — 8v*) (=30 + 30%)
= —120"% + 360! — 240"

—2y°(5y° + 2y") (8y" + 3y°)
= —80y™ — 62y" — 12412

AKA(—5k* — 3k%) (—4k + 2)

— 80k" + 8Kk — 24K°

—7¢"(=6q — 2)(—¢* + 8¢°)
— —42¢% +322¢" + 112¢°

3a*(—8a® — 4a)(7a* + a) _
= —168a" — 108a" — 12a°

MatesLibres.com




